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struct node {
string name;
char clas;
Int score;
ystul, stu2;
A. stul->score =97; B. stu2->score =97,
C.stul.score =97, D. stu2.score =97;
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A. s->next = p->next; p->next =s; B. p->next = s->next; s->next = p;
C. g->next = s; s->next = p; D. p->next = s; s->next =q;
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union U {
bool flagl, flag2, flag3, flag4;
int a, b; ¢;
double d;
enum E {
rankl = 'A', rank2 = 'B', rank3 = 'C'
} e;
} ou;
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01 #include <iostream>

02 #include <vector>

@3 using namespace std;

04 int n,k;

05 vector<vector<int>>res;
06 vector<int>tmp;

07 bool vis[20];

08 void dfs(int layer)

09 {
10 if(layer == n+l)
11 {

12 res.push_back(tmp);



13 return;

14}

15 for(int i=1; i<=n; ++i)

16 {

17 if(vis[i] == @)

18 {

19 tmp.push _back(i);
20 vis[i] = 1;

21 dfs(layer+l);

22 vis[i] = ©;

23 tmp.pop_back();
24 }

25 }

26 }

27

28 int main()

29 {

30 cin >> ng

31 dfs(1l);

32 for(int i=0@;i<res.size();++1i)
33 {

34 for(int j=0;j<res[i].size();++])
35 {

36 cout << res[i][]j] << " ";
37 }

38 cout << endl;

30 ¥

40 return 0;
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#include <iostream>
using namespace std;
const int N = 10000;
int n3
int a[N];
int b[N];
int f(int 1, int r, int depth){
if(1 > r) return 0;
int min = N, mink;
for(int i = 1; i <= r; ++i){
if(min > a[i]){
min = a[i];
mink = 1i;
}
}
int lres = f(1, mink - 1, depth + 1);
int rres = f(mink + 1, r, depth + 1);
return lres + rres + depth * b[mink];

}

int main(){
cin »> n3
for(int 1 = 9; i < n; ++i) cin >> a[i];
for(int 1 = 0; 1 < n; ++1) cin >> b[i];
cout << f(@, n - 1, 1) << endl;

}
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01 #include <iostream>
02 #include <algorithm>
@3 using namespace std;
04

@5 int n;

06 int a[1010];

Q7

@8 struct node

09 {

10 int h, 3, 0N, W;
11 node(const int h, const int j, const int m, const int w):

12 h(_h), 3(_3), m(_m), w(_w)

13 {}

14

15 node operator+(const node &o0) const
16 {

17 return node(

18 max(h, w + o.h),

19 max(max(j, 0.j), m + o.h),
20 max(m + o.w, o0.m),

21 W + 0.W);

2

23 };

24

25 node solvel(int h, int m)

26 {

27 if(h > m) return node(-1, -1, -1, -1);

28 if(h == m) return node(max(a[h], @), max(a[h], @), max(a[h],
0), alh]);

29 int J = (h -+ m) > 13



30 return solvel(h, j) + solvel(j + 1, m);
31 }

32

33 int solve2(int h, int m)

34 {

35 if(h > m) return -1;

36 if(h == m) return max(a[h], 0);
37 int § = (h + m) > 1;

38 int wh = 0, wm -

39 int wht = 0, wmt 0;

40 for(int 1= J; 1 >= h; 1--){

]
n ®

41 wht += a[i];

42 wh = max(wh, wht);

43 }

44 for(int i = j + 1; i <=m; i++){
45 wmt += af[i];

46 wm = max(wm, wmt);

47 }

48 return max(max(solve2(h, j), solve2(j + 1, m)), wh + wm);
49 }

50

51 int main()

52 4

53 cia ¥ 'nj

54 for(int i = 1; i <= n; i++) cin >> a[i];
55 cout << solvel(1l, n).j << endl;

56 cout << solve2(1,n) << endl;

57 return 0;

58 }
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#include <iostream>
#include <algorithm>
using namespace std;
const int N = 5050;
struct node

{
int price,num;
bool operator <(const node& b)const{
return o;
}
ra[N];
int main()
{
int n,m;

cin > n Y% g
for{int 1 = 1; 1 <= m; ++i)



cin >> a[i].price >> a[i].num;

if(e@)
{
cout << 9;
return 0;
}
®;
int ans = 9;
int ¢cnt = 9;
for(int i = 1; i <= m; ++1)
|
if(@ > n)
{
int k = ®;
ans += k*a[i].price;
break;
}
else
{
cnt += a[i].num;
ans += a[i].price*a[i].num;
}
}

cout << ans;

}
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A. price <b.price B.price>b.price C.num <b.num D.num > b.num
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An==0 B.n==1 Cm==0 D.m==
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A.sort(a+1,a+1+n) B.sort(a, a+n) C.sort(a+1,a+1+m) D.sort(a, a+m)
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A. ans + a[i].price B.cnt +a[i].price C.ans + a[i].num D. cnt + a[i].num
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A m-ans B.n-cnt Cn-ans D.m-cnt
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#include <iostream>
using namespace std;
const int N = 1le5+6;
int n;

int a[N];

double dp[N][2];

bool checkl(double x){
dp[@][@] = 0.0;
dp[@][1] = ©.0;
for(int i = 1; i <= n; ++i){
dp[i][@] = dp[i-1][1];
; dp[i][1] = max(dp[i-1][@], dp[i-1][1]) + (@);

if(max(dp[n][@], dp[n][1]) >= @) return true;
else return false;

}

bool check2(int x){

dp[@][@] = 0;

dp[@][1] = ©;
for(int i = 1;i <= nj i}
dp[i][@] = dp[i-1][1];

int num;

if(@) num = 1;

else num = -1; ;
dp[i][1] = max(dp[i-1][@], dp[i-1][1]) + (®);



}
if(max(dp[n][@], dp[n][1]) > ©) return true;
else return false;

|
int main()
{ .
cin >> n;
for(int i=1; i <= n; ++i) cin >> a[i];
double 1 = @, r = 1000000000.0;
while(r - 1 >= le-6){
double mid = (1 + r) / 2.0;
if(checkl(mid)) @;
else r = mid;
}
int le = 0, ri = 1000000000;
while(le <= ri){
int mid = le + ri >> 13
if(check2(mid)) o;
else ri = mid - 1;
}
cout << r << endl;
cout << pdg
return 0;
}
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A a[i]>x B.ail<=x C.a[i]>=x D.a]i]<x
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A num+x B.num-x C num-+1 D. num
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Al=md B.l=mid+1 C.l=mid-1 D.I=1+mid/20;
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A le=le+mid/2 B.le=mid Cle=mid-1 D le=mid+1



